

SOME PROPERTIES OF k -GENERALIZED FIBONACCI NUMBERS

N. YILMAZ¹, A. AYDOĞDU^{2*}, AND E. ÖZKAN³

¹Department of Mathematics, Kamil Özdağ Faculty of Science, Karamanoğlu Mehmetbey University, Karaman, Turkey.

²Department of Basic Sciences, Air NCO Vocational School, Turkish National Defense University, İzmir, Turkey.

³Department of Mathematics, Faculty of Arts and Sciences, Erzincan Binali Yıldırım University, Erzincan, Turkey.

*Corresponding author. E-mail: aydogduali84@gmail.com

DOI: 10.20948/mathmontis-2021-50-7

Summary. In the present paper, we propose some properties of the new family k -generalized Fibonacci numbers which related to generalized Fibonacci numbers. Moreover, we give some identities involving binomial coefficients for k -generalized Fibonacci numbers.

1 INTRODUCTION

Fibonacci numbers have a great importance in mathematics. It is one of the most popular sequences that have a lot of applications in many branch of mathematics as in diverse sciences [1, 2, 6, 7, 10-13, 16-20]. The Fibonacci numbers F_n are given by the recurrence relation

$$F_{n+1} = F_n + F_{n-1}, \quad n \geq 1$$

with the initial conditions $F_0 = 0$ and $F_1 = 1$. Koshy [9] written one of the most popular books of Fibonacci and Lucas numbers, and gave numerous recurrence relations, generalizations and applications of Fibonacci and Lucas numbers. For $a, b \in \mathbb{R}$ and $n \geq 1$, the well-known generalized Fibonacci numbers are defined

$$G_{n+1} = G_n + G_{n-1}$$

where $G_0 = a$ and $G_1 = b$.

Falcon and Plaza [4] introduced general k -Fibonacci numbers and gave some properties of these numbers. Guleç et al. [5] presented some properties of generalized Fibonacci numbers with binomial coefficients.

El-Mikkawy and Sogabe [3] proposed a new family of k -Fibonacci numbers and gave the relationship between the k -Fibonacci numbers and Fibonacci numbers as follow:

$$F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r, \quad n = mk + r.$$

In [14], Özkan et al. defined a new family of k -Lucas numbers and gave some identities of the new family of k -Fibonacci and k -Lucas numbers. Özkan et al. [15] introduced some identities of the new family of k -Fibonacci numbers.

In this study, we present some identities of the new family of k -generalized Fibonacci numbers. We give relationships between the new family of k -Fibonacci numbers and k -generalized Fibonacci numbers. Also, we introduce Cassini formulas of k -generalized Fibonacci numbers and some properties involving binomial coefficients. The rest of the paper is organized as follows: In Section 2 (Preliminaries), the fundamental definitions and theorems are given. Then main theorems and proofs are introduced in Section 3.

2010 Mathematics Subject Classification: 11B39.

Key words and Phrases: Fibonacci numbers; generalized Fibonacci numbers; generalized k -Fibonacci numbers.

2 PRELIMINARIES

Definition 2.1. [21] For $n, k (k \neq 0) \in \mathbb{N}$, the new family of k -generalized Fibonacci numbers are defined by

$$G_n^{(k)} = \frac{1}{(\sqrt{5})^k} ([a + b\alpha]\alpha^{m+1} - [a + b\beta]\beta^{m+1})^r ([a + b\alpha]\alpha^m - [a + b\beta]\beta^m)^{k-r}$$

where $n = mk + r, 0 \leq r < k$ and $m \in \mathbb{N}$.

It is clear that for $a = 0$ and $b = 1, G_n^{(k)} = F_n^{(k)}$ and for $k = 1, r = 0$ and $n = m, G_n^{(1)} = G_n$. Then they gave the relationship of between the new family of k -generalized Fibonacci numbers and generalized Fibonacci numbers as follow:

$$G_n^{(k)} = (G_m)^{k-r} (G_{m+1})^r, \quad n = mk + r. \quad (2.1)$$

Theorem 2.2. [9]

- i. $G_{n+1}^3 - G_n^3 - G_{n-1}^3 = 3G_{n+1}G_nG_{n-1}$
- ii. $\sum_{i=1}^n F_i G_{3i} = F_n F_{n+1} G_{2n+1}$
- iii. $G_n^2 + G_{n-1}^2 = (3a - b)G_{2n-1} - (a^2 + ab - b^2)F_{2n-1}$
- iv. $F_{2n+1} = F_{n+1}^2 + F_n^2$
- v. $G_{n-1}^6 + G_n^6 + G_{n+1}^6 = 2[2G_n^2 + (a^2 + ab - b^2)(-1)^n]^3 + 3G_{n-1}^2 G_n^2 G_{n+1}^2$
- vi. $G_{n+t}G_{n+t-2} - G_{n+t-1}^2 = (a^2 + ab - b^2)(-1)^{n+t-1}F_k^2$

Theorem 2.3. [15]

$$\sum_{i=1}^n F_i F_{3i} = F_{2n+1}^{(2)} (F_{2n+3}^{(2)} - F_{2n-1}^{(2)})$$

Theorem 2.4. [3]

- i. $\sum_{i=0}^{k-1} (-1)^i \binom{k-1}{i} F_{mk+i}^{(k)} = (-1)^{k-1} F_m F_{(m-1)(k-1)}^{(k-1)}$
- ii. $\sum_{i=0}^{k-1} \binom{k-1}{i} F_{mk+i}^{(k)} = F_m F_{(m+2)(k-1)}^{(k-1)}$.

3 MAIN RESULTS

In this section, we present some properties of the new family of k -generalized Fibonacci numbers.

Theorem 3.1. For $n \geq 1$, we have

$$G_{2n+2}^{(2)} + G_{2n}^{(2)} = 2 G_{2n+1}^{(2)} + G_{2n-2}^{(2)}.$$

Proof. Using Theorem 2.2 (i), we have

$$\begin{aligned}
 G_{n+1}^3 - G_n^3 &= G_{n-1}^3 + 3G_{n+1}G_nG_{n-1} \\
 (G_{n+1} - G_n)(G_{n+1}^2 + G_{n+1}G_n + G_n^2) &= G_{n-1}(G_{n-1}^2 + 3G_{n+1}G_n) \\
 G_{n-1}(G_{2n+2}^{(2)} + G_{2n+1}^{(2)} + G_{2n}^{(2)}) &= G_{n-1}(G_{2n-2}^{(2)} + 3G_{2n+1}^{(2)}) \\
 G_{2n+2}^{(2)} + G_{2n+1}^{(2)} + G_{2n}^{(2)} &= G_{2n-2}^{(2)} + 3G_{2n+1}^{(2)} \\
 G_{2n+2}^{(2)} + G_{2n}^{(2)} &= 2G_{2n+1}^{(2)} + G_{2n-2}^{(2)}.
 \end{aligned}$$

Theorem 3.2. For $n \geq 1$, we have

$$(3a - b) \sum_{i=1}^n F_i G_{3i} = F_{2n+1}^{(2)} (G_{2n+3}^{(2)} - G_{2n-1}^{(2)}) + (a^2 + ab - b^2) \sum_{i=1}^n F_i F_{3i}.$$

Proof. Using Theorem 2.2 (ii), (iii), (iv) and Theorem 2.3, we have

$$\begin{aligned}
 (3a - b) \sum_{i=1}^n F_i G_{3i} &= (3a - b) F_n F_{n+1} G_{2n+1} \\
 &= F_n F_{n+1} (G_n^2 + G_{n+1}^2 + (a^2 + ab - b^2) F_{2n+1}) \\
 &= F_n F_{n+1} (G_n (G_{n+1} - G_{n-1}) + G_{n+1} (G_{n+2} - G_n) \\
 &\quad + (a^2 + ab - b^2) (F_{n+1}^2 + F_n^2)) \\
 &= F_n F_{n+1} (-G_n G_{n-1} + G_{n+1} G_{n+2} \\
 &\quad + (a^2 + ab - b^2) (F_{n+2} F_{n+1} - F_n F_{n-1})) \\
 &= F_{2n+1}^{(2)} (G_{2n+3}^{(2)} - G_{2n-1}^{(2)} + (a^2 + ab - b^2) (F_{2n+3}^{(2)} - F_{2n-1}^{(2)})) \\
 &= F_{2n+1}^{(2)} (G_{2n+3}^{(2)} - G_{2n-1}^{(2)}) + (a^2 + ab - b^2) F_{2n+1}^{(2)} (F_{2n+3}^{(2)} - F_{2n-1}^{(2)}) \\
 &= F_{2n+1}^{(2)} (G_{2n+3}^{(2)} - G_{2n-1}^{(2)}) + (a^2 + ab - b^2) \sum_{i=1}^n F_i F_{3i}.
 \end{aligned}$$

Theorem 3.3. For $n \geq 1$, we have

$$(G_{2n-2}^{(2)})^3 + (G_{2n}^{(2)})^3 + (G_{2n+2}^{(2)})^3 = 2[2G_{2n}^{(2)} + (a^2 + ab - b^2)(-1)^n]^3 + 3G_{2n-2}^{(2)}G_{2n}^{(2)}G_{2n+2}^{(2)}.$$

Proof. Using Theorem 2.2 (v), we get

$$\begin{aligned}
 (G_{2n-2}^{(2)})^3 + (G_{2n}^{(2)})^3 + (G_{2n+2}^{(2)})^3 &= (G_{n-1}^2)^3 + (G_n^2)^3 + (G_{n+1}^2)^3 \\
 &= G_{n-1}^6 + G_n^6 + G_{n+1}^6 \\
 &= 2[2G_n^2 + (a^2 + ab - b^2)(-1)^n]^3 + 3G_{n-1}^2 G_n^2 G_{n+1}^2
 \end{aligned}$$

$$= 2 \left[2G_{2n}^{(2)} + (a^2 + ab - b^2)(-1)^n \right]^3 + 3G_{2n-2}^{(2)}G_{2n}^{(2)}G_{2n+2}^{(2)}.$$

Theorem 3.4. For $n \geq 1$, we have

$$G_{2n+2}^{(2)} - G_{2n}^{(2)} = G_{2n-2}^{(2)} + 2G_{2n-1}^{(2)}.$$

Proof. From equation (2.1) and recurrence relation of generalized Fibonacci numbers, we get

$$\begin{aligned} G_{2n+2}^{(2)} - G_{2n}^{(2)} &= G_{n+1}^2 - G_n^2 \\ &= (G_{n+1} - G_n)(G_{n+1} + G_n) \\ &= G_{n-1}(G_{n+1} + G_n) \\ &= G_{n-1}G_{n+1} + G_{n-1}G_n \\ &= G_{n-1}(G_n + G_{n-1}) + G_{n-1}G_n \\ &= G_{n-1}^2 + 2G_{n-1}G_n \\ &= G_{2n-2}^{(2)} + 2G_{2n-1}^{(2)}. \end{aligned}$$

Theorem 3.5. For $n \geq 1$, we have

$$G_{2n-2}^{(2)} + G_{2n-1}^{(2)} = G_{2n}^{(2)} + (a^2 + ab - b^2)(-1)^n.$$

Proof. Using Theorem 2.2 (vi), we have

$$\begin{aligned} G_{2n-2}^{(2)} + G_{2n-1}^{(2)} &= G_{n-1}^2 + G_nG_{n-1} \\ &= G_{n-1}(G_{n-1} + G_n) \\ &= G_{n-1}G_{n+1} \\ &= G_n^2 + (a^2 + ab - b^2)(-1)^n \\ &= G_{2n}^{(2)} + (a^2 + ab - b^2)(-1)^n. \end{aligned}$$

Theorem 3.6. For $n \geq 1$, we have

$$G_{4n+5}^{(4)} = \left(G_{2n}^{(2)}\right)^2 + G_{4n+1}^{(4)} + 2G_{4n-3}^{(4)} + \left(G_{2n-2}^{(2)}\right)^2 + 3G_{2n+3}^{(2)}G_{2n-1}^{(2)}.$$

Proof. Using Theorem 2.2 (i), we have

$$\begin{aligned} G_{4n+5}^{(4)} &= (G_{n+1})^3G_{n+2} \\ &= (G_n^3 + G_{n-1}^3 + 3G_{n+1}G_nG_{n-1})G_{n+2} \\ &= G_n^3G_{n+2} + G_{n-1}^3G_{n+2} + 3G_{n+2}G_{n+1}G_nG_{n-1} \\ &= G_n^3(G_n + G_{n+1})G_{n-1}^3(2G_n + G_{n-1}) + 3G_{2n+3}^{(2)}G_{2n-1}^{(2)} \\ &= \left(G_{2n}^{(2)}\right)^2 + G_{4n+1}^{(4)} + 2G_{4n-3}^{(4)} + \left(G_{2n-2}^{(2)}\right)^2 + 3G_{2n+3}^{(2)}G_{2n-1}^{(2)}. \end{aligned}$$

Theorem 3.7. For $k, n, t \geq 1$, we have

$$G_{kn+t}^{(k)} G_{kn+t-2}^{(k)} - \left(G_{kn+t-1}^{(k)}\right)^2 = \begin{cases} G_n^{2k-2} (-1)^n (a^2 + ab - b^2), & t = 1 \\ 0, & t \neq 1 \end{cases}.$$

Proof. For $t = 1$, we get

$$\begin{aligned} G_{kn+1}^{(k)} G_{kn-1}^{(k)} - \left(G_{kn}^{(k)}\right)^2 &= (G_n^{k-1} G_{n+1})(G_{n-1} G_n^{k-1}) - (G_n^k)^2 \\ &= G_{n-1} G_n^{2k-2} G_{n+1} - G_n^{2k} \\ &= G_n^{2k-2} [G_{n-1} G_{n+1} - G_n^2] \\ &= G_n^{2k-2} (-1)^n (a^2 + ab - b^2). \end{aligned}$$

For $t \neq 1$, we get

$$\begin{aligned} G_{kn+t}^{(k)} G_{kn+t-2}^{(k)} - \left(G_{kn+t-1}^{(k)}\right)^2 &= (G_n^{k-t} G_{n+1}^t)(G_n^{k-t+2} G_{n+1}^{t-2}) - (G_n^{k-t+1} G_{n+1}^{t-1})^2 \\ &= G_n^{2k-2t+2} G_{n+1}^{2t-2} - G_n^{2k-2t-2} G_{n+1}^{2t-2} \\ &= 0. \end{aligned}$$

Theorem 3.8. For $n \geq 1$, we have

$$G_{2(n+s-1)}^{(2)} - G_{n+s} G_{n+s-2} = (-1)^{n+s} (a^2 + ab - b^2).$$

Proof. From the equation (2.1) and Theorem 2.2. (vi), we acquire

$$\begin{aligned} G_{2(n+s-1)}^{(2)} - G_{n+s} G_{n+s-2} &= G_{n+s-1}^2 - G_{n+s} G_{n+s-2} \\ &= -(G_{n+s} G_{n+s-2} - G_{n+s-1}^2) \\ &= -((-1)^{n+s-1} (a^2 + ab - b^2)) \\ &= (-1)^{n+s} (a^2 + ab - b^2). \end{aligned}$$

Theorem 3.9. For $n \geq 1$, we have

$$\sum_{i=1}^{k-1} (-1)^i \binom{k-1}{i} G_{mk+i}^{(k)} = (-1)^{k-1} G_m G_{(m-1)(k-1)}^{(k-1)}.$$

Proof. By using the equation (2.1) and the well known binomial property, we obtain

$$\begin{aligned} \sum_{i=1}^{k-1} (-1)^i \binom{k-1}{i} G_{mk+i}^{(k)} &= (-1)^{k-1} \sum_{i=1}^{k-1} (-1)^{k-1-i} \binom{k-1}{i} G_m^{k-i} G_{m+1}^i \\ &= (-1)^{k-1} G_m \sum_{i=1}^{k-1} \binom{k-1}{i} (-G_m)^{k-i-1} G_{m+1}^i \end{aligned}$$

$$\begin{aligned}
 &= (-1)^{k-1} G_m (G_{m+1} - G_m)^{k-1} \\
 &= (-1)^{k-1} G_m G_{m-1}^{k-1} \\
 &= (-1)^{k-1} G_m G_{(m-1)(k-1)}^{(k-1)}.
 \end{aligned}$$

Theorem 3.10. For $n \geq 1$, we have

$$\sum_{i=1}^{k-1} \binom{k-1}{i} G_{mk+i}^{(k)} = G_m G_{(m+2)(k-1)}^{(k-1)}.$$

Proof. By taking account the equation (2.1) and the well known binomial property, we get

$$\begin{aligned}
 \sum_{i=1}^{k-1} \binom{k-1}{i} G_{mk+i}^{(k)} &= \sum_{i=1}^{k-1} \binom{k-1}{i} G_m^{k-i} G_{m+1}^i \\
 &= G_m \sum_{i=1}^{k-1} \binom{k-1}{i} G_{m+1}^i (G_m)^{k-i-1} \\
 &= G_m (G_{m+1} + G_m)^{k-1} \\
 &= G_m G_{m+2}^{k-1} \\
 &= G_m G_{(m+2)(k-1)}^{(k-1)}.
 \end{aligned}$$

4 CONCLUSIONS

In this study, we prove that some identities of the new family of k -generalized Fibonacci numbers. Then, we show that some properties of the new family of k -generalized Fibonacci numbers related to generalized Fibonacci numbers. Furthermore, we extend Cassini's formula to the new family of k -generalized Fibonacci numbers and present identities comprising binomial coefficients for the new family of k -generalized Fibonacci numbers.

REFERENCES

- [1] C.M. Campbell and P.P. Campbell, "The Fibonacci length of certain centro-polyhedral groups", *Journal of Applied Mathematics and Computing*, **19**(1-2), 231-240 (2005).
- [2] Ö. Deveci, E. Karaduman, C.M. Campbell, "On the k-Nacci sequences in finite binary polyhedral groups", *Algebra Colloquium(AC)*, **18**, Special Issue, 945–954 (2011).
- [3] M. El-Mikkawy and T. Sogabe, "A new family of k-Fibonacci numbers", *Applied Mathematics and Computation*, **215**(12), 4456-4461 (2010).
- [4] S. Falcon and A. Plaza, "On the Fibonacci k-numbers", *Chaos, Solitons & Fractals*, **32** (5), 1615-1624 (2007).
- [5] H.H. Gulec, N. Taskara, K. Uslu, "A new approach to generalized Fibonacci and Lucas numbers with binomial coefficients", *Applied Mathematics and Computation*, **220**, 482-486 (2013).
- [6] I. Kaddoura and B. Mourad, "On a new improved unifying closed formula for all Fibonacci-type sequences and some applications", *Journal of Number Theory*, **182**, 271-283 (2018).
- [7] E. Kilic and D. Taşci, "On the generalized order-k Fibonacci and Lucas numbers", *The Rocky*

- Mountain Journal of Mathematics*, 1915-1926 (2006).
- [8] S. Kopal and N. Ömür, “Some Congruences Involving Catalan, Pell and Fibonacci Numbers”, *Mathematica Montisnigri*, **48**, 10-18 (2020).
- [9] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Wiley–Interscience, New York, (2001).
- [10] G. Lee and M. Asci, “Some Properties of the (p, q) -Fibonacci and (p, q) -Lucas Polynomials”, *Journal of Applied Mathematics*, **2012** (2012).
- [11] E. Özkan, “3-Step Fibonacci Sequences in Nilpotent Groups”, *Applied Mathematics and Computation*, **144**, 517-527 (2003).
- [12] E. Özkan, “On General Fibonacci Sequences in Groups”, *Turkish Journal of Mathematics*, **27** (4), 525-537 (2003).
- [13] E. Özkan, “On truncated Fibonacci sequences”, *Indian Journal of Pure and Applied Mathematics*, **38**(4), 241-251 (2007).
- [14] E. Özkan, İ. Altun, A.A. Göçer, “On relationship among a new family of k -Fibonacci, k -Lucas numbers, Fibonacci and Lucas numbers”, *Chiang Mai J. Sci.*, **44**(4), 1744-1750 (2017).
- [15] E. Özkan, A. Aydoğdu, İ. Altun, “Some Identities for A Family of Fibonacci And Lucas Numbers”, *Journal of Mathematics and Statistical Science*, **3**(10), 295-303 (2017).
- [16] J.L. Ramírez, “On convolved generalized Fibonacci and Lucas polynomials”, *Applied Mathematics and Computation*, **229**, 208-213 (2014).
- [17] M.P. Saikia and A. Laugier, “Some Properties of Fibonacci Numbers, Generalized Fibonacci Numbers and Generalized Fibonacci Polynomial Sequences”, *Kyungpook Mathematical Journal*, **57**(1), 1-84 (2017).
- [18] P. Stanimirović, J. Nikolov, I. Stanimirović, “A generalization of Fibonacci and Lucas matrices”, *Discrete applied mathematics*, **156**(14), 2606-2619 (2008).
- [19] D. Tasci and E. Kilic, “On the order- k generalized Lucas numbers”, *Applied mathematics and computation*, **155**(3), 637-641 (2004).
- [20] R.B. Taher and M. Rachidi, “On the matrix powers and exponential by the r -generalized fibonacci sequences methods: the companion matrix case”, *Linear Algebra and Its Applications*, **370**, 341-353 (2003).
- [21] N. Yılmaz, Y. Yazlik, N. Taskara, “On the k -Generalized Fibonacci Numbers”, *Selcuk Journal of Applied Mathematics*, **13**(1), 83-88 (2012).

Received January 26, 2021